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NDKES| TRE | IOAEE]| THE | NOAES| TRZ | WDOAES| TRE NADKRES| TRZE |NOAEE| TRE | IOAEE| TRZ | hDOAES| 1A%
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(Kn/m?% (m) (Kn/m?% (m) (Kn/m% (m) (Kn/m?% (m) (Kn/m%) (m) (Kn/m%) (m) (Kn/m%) (m) (Kn/m%) (m)
1 2 126.08 1.00 100.00 1.00 = = 13.51 2.67
2 3 136.95 1.00 100.00 1.00 = = 14.00 2.77
3 4 141.76 1.00 100.00 1.00 = = 14.91 2.95
4 5 141.76 1.00 100.00 1.00 = = 14.91 2.95
5 6 146.39 1.00 100.00 1.00 = = 14.38 2.85
6 7 147.22 1.00 100.00 1.00 = = 15.16 3.00
7 8 147.22 1.00 100.00 1.00 = = 15.16 3.00
8 9 133.81 1.00 100.00 1.00 = = 12.98 2.57
9 10 131.57 1.00 100.00 1.00 = = 12.98 2.57
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